Radasd
E70EILAMBELBRBPOEFEAR RECIEMERELHBEEFEARETE RE71REKEESR
LB RAZ DT A Pk 2845 28 (1), 290 (H)
H A, il F Iz 201 3L 4z 5L 6 7hr 8fir
28 F BF100m (TR HCQ) 10.65 /=17 A T(3) 10.78[E3 [B£(3) 10.78[ KA HET(3) 10.80(JF I pfe(4) 10.82(FFRF K (3) 10.88[ 12 #i512) 10.91 /A HEK(2) 10.93
JR:+0.1 [ES i PN HHEE B FURF iEL 5 FURF L [ESESPN R L3 BE 5 FURFiE: EESINEPN
son BEF-200m KA TEFE(3) 21.87| R Hh(©2) 21.90[ixfkE & F 22.01 [ A4) 22. 121 —#(3) 22.27| 1k #3k2) 22.32|PEEF K= (3) 23.30
JEL:-3.2 Bria R RPN HHEAC [ESES: PN EIR 5 FURF L S
28 F 5 4.400m il —H#i3) 48.16[HIFL)1] #A(3) 48.58|3—hv NE=(2) 49.64 (1 FIA(2) 50.13[#AK 5341 (2) 50.84 NIk J(2) 51.34|2 FREHE(2) 51.69 /Mt THIE(2) 53.51
7 SEIRE & GR|HAKE K BR 5 FURF iEL AL EBE R HB A SCRLR T3 PR P8 ESLIPN
29H 5 7-800m TEE SR (4) 1:54.83 ([l A #H(3) 1:58.47 |#Ble; Ffi(4) 1:58.48 (Elg E SO 1:59.40 & [ 175(3) 2:00.29[ &AL i 2:00.58 [ 1=%(3) 2:01.09[ A0k HfH(3) 2:03.47
IALERER i ROPROR (15PN IIESN AL R R AL [ESE i PN
. 551500m 2.=,7J< §-(2) 3:59.12[ A A 40143 KT () 4:03.57 maa KAmI(1) 4:04.49 B H 1 HI(3) 4:05.23[/Mk K Hh 4:05.23[F Rk ZHH(2) 4:05.45[3T 1 25 H1(3) 4:05.98
PN icarus IEESTPN AL AR ) B = HIEAC WAL LLBRLE B
29 R B 45000m I 15:13.64 |1 H K 15:14.44|'2 F £ A(©2) 15:18.20] FH @t 15:20.57 |[{KH 22351 15:46.51 /MK Kl 15:49.33[ ik FIA 15:52.69[H L1 F2 15:53.95
PR R icarus & O LR A WALy HHEAC 7 VS AR, 12 b
ssh|  WFl0000m TR A 31:48.97 (KT FHYA(4) 31:58.06(fKH S=5L 32:19.02|=A3)1 3(3) 32:24.04[E AT #T(2)  32:30.7T|RAF HiA M)  32:32.80 (Wl =2 32:46.29|fi%E fH-EB(4)  33:02.62
’ EPH%% BB WALy IBLERER WAL INRLERER A INRLERE R
agp| P TI0mH - [HAE FEE) 15.56( 4181 FH(3) 15.60|#:8 EA 15.61 (% HEXX(3) 15.79( @t 5t 15.88 (/1M {EL1(3) 16.17 ()11 2o 16.52(BUALR BATE(2) 17.97
JR:-1.7 INRLERER & T e IHBLRAC ELEE HHEAC INRLERE R Takers £S5 e ERN
wn|  W40omp |eE AW 53.37 (1 FIN(2) 53.73[HEJIl 44 (3) 53.80= F HF3) 54.24 52 LA 3) 55.88 (Il iR 56.83 [ BERRR(2) 1:00.92 /i {#71(3) 1:02.48
[E5] e RN WAL EENINEPN FERE B PR P8 Takers HHEH INRLERER
ssn|  #p3000mse A FK3) 9:29.93|#a7k  BHER) 9:41.56 [ LH Gk (1) 9:46.14 [ SLHR(3) 9:47.06 [l F& 9:52.76 MEHE F#(3) 9:53.95| K42 7 E(3) 10:12.24 (84 B 10:14.47
’ AL EPNGE TR IE:SN AL LB T ¥R (PPN AL
20n|  BF5000mW HH EQ) 22:58.88|2 A K(3) 24:11.32| 4k 52K(2) 24:35.53|F2A Q) 24:43.66 M Bl (2) 25:38.52| %k MR (3) 25:39.62[/M% K HH(3) 26:48.65|F1H HEA(2) 26:57.09
7 HAK By HE EEERIPN b 7 B SR A R IR B A7 B ERAE ) BB
B A & A 41.53| Ak 42.04| (LALFBER 42.07| FFF Ve =) 42.45 | ILBLS B 43.18[BA R HFF i B 43.50 | B HURF i C 43.56 | FFF T3¢0 43.59
KA M) BFE - FORE(3) T REEQ2) PN BRI fKH  KHE®B) LR INE)) (AL SR YNCY) I fE(2)
28H[  H74X100mR [+ #2HQ) A BHEG3) 2H BAW hJ] FEKER3) /NG PEER(2) B HOIME(2) EDL Y NC) B SEHE2)
B RiE2) AR PARR(2) RN HEH(2) N BEA(3) e fE=(2) )1 F(2) SR 2 OD) Wi @)
P50 pEQR) Vel HT3) 1% 7N Al FHRE@) LB Q) TEK_ A AER(3) E=al i 10Y) PR ER(3)
BEA A 3:25.57[ILALK 3:25.78 AL FBE K 3:27. 15| HURF R B A 3:27.50| R L2 3:28.90[ B mA 3:29.44 |58 5 H T & B 3:31.83| H KB 3:35.08
a=f NE—(2) S BR3) T HETA(4) JEIR HA3) e A8(3) AR e K(3) REAY H0fE(2) A A (3)
290 [ F4X400mR [P0 FE3) )] 2H BAW AR A 6)) PR ) (R HEE(3) [ INE)) R Q)
g R IKE HEW) BN HE(2) AR 1K(3) B HEm(3) il PNO) 7P N {6)) - EEG)
A RiE2) EE QD D FAR(Q) PRAE EAR(3) Bl 0 FKG) R AEAGR) b1 F(2) EF Q)
PR RER 2mO1 [ fik 2mo01[4H)1 75 1m98| =8 Zhif(1) 1m90| i —ik 1m85 | 1(3) 1m85 /NI FaA(3) 1m80
29H e, AR BHRAE 2 SMBCH TN = JER AR LBl HE T B
B 7R(3) 1m80
EPN T
TEE JRKRG) 4mO0| B H it (2) 3m90 [Nk Erw(2) 3m80 Kb () 3m80 [#AJ5 ff 3m80(A)11 [EA) 3m70
ELEE PR P8 @ﬁﬂkgﬁ%}\‘ ELEE ILALRAC HRRER
- P& 1H4R3) 3m80
28H 7 ek E@FS_J
JFH - FnsC 3m80
AL,
98H PR R #h(3) Tm28(+0.2) | HAE  ARHE Tm04(+1.2)| =B et TmO04(+1.0) [Bf#R  AC(3) Tm03(0.0) |- #iAK(2)  6m85(+0.2)|EH Bk 6m81(-0.5)[#i%F M AB)  6m63¢+1.1)[EH FHE®3) 6m62(+0.6)
e FHEK IFLRAC SN Al HRER SRR HIBLRAC Bk R I
29 H 7 = Bk Bidr AM3)  16mo6(+1.2)[M.z 0 EFG) 13m85(+2.9) [ MEwl(2)  13ma3¢+3.0)[A&JI EB)  13ma3(+2.9)[fIT AR  13ma1(0.0)[FHE FARQ) 13m31(+4.0)[[UHR HEARQ) 12m62(+2.6)[i 78 1Aik(2) 12m15(+2.7)
e SEIR R 2@13m5001.4)| [LIBLK ZA13mA00:0.9)| B A T AR13m020 10| L EE B AR13m03¢1.o)| B R AR 12m610:1.8)| LR AARI2m01(+1.7)
29 H PR RS ) 15m38|fE (1) 13m56|#JE 11(2) 12m93| A LR 2t 1m59| % B7 1Imb2( =t B 11m05 |1 ¥%(3) 10m59
T [ESES:PN LN PN IIE SN HIEAC HIEAC yamaonjapon VP RF SR
98H PR A HER 40m61 AT [EJHE(2) 3Tm84[FKIF 1 (2) 29m03 (R 15(3) 26m77 | B FTR() 26m58 [ H L EE(3) 25m64 | (g HLE(3) 23m84
HHIEAC ILRLERE YHSR|ILIFLK PR R R L3 RT3 EIR
98f| BFA e m’f% K 55m69 | Bk AsE(1) 53m26 | A LR 2t 41m94 [k 1h(2) 34ma5 |4 HEIE2) 25m46
LR B s FECR-HEE  BSRHSEAL | Y FEAC |[|ﬂ)\ HiE
29H FEXS a(n A=HL(2) 60m40 [#A7k  BEiEk(3) 57Tm92| Ak THEIE(2) 55m38|it 1 #—(3) 53m76|H 1 1 52md2 |t W5 51m26 [ 3E(1) 49m54 )11 B @) 49m52
’ LALERER BAE BYAE HALZE 5 11 HYBS IIHLKAC ALK R
o8 (%f)\l_)\ 5536 5. $H£}\M 44738
wepr |IUBLRAC (LIFLRAC
NE?Q %%+$§Rﬂ'ﬁ( 11.7?:(7.1)7611\40015)*1011112*1n|82*51v76 12.25(-0.1)-5m97(+2.1)-8m69-1m65-55.30
15.99(=0.7)-31m94-3m00-36m84-5:27.15 | 17.70(-0.7)-25m25-NM-37m48-5:17.85




%’70@m%u

ELBRRRFERE RFESOBMERELGREFEAZRETE RFE7T1HEKEESR

LB RAZ DT A Pk 2845 28 (1), 290 (H)
A ] il B 1L 201 37 4z 507 6 7hr 8L
28 H % 7100m ﬁ-g HiZs(1) 12.08|HH FEAEQ) 12.19]BK 1L #i(3) 12.40[ (L #ERL(1) 12.58| 1A H:3(2) 12.70|Bf L 3L (3) 12.71]/MK ZEHE(3) 12.75|HiH SZWL2) 12.88
JEL:—0.1 LB ERER EGR| 5 it & BR 5 FURF i 555 FURF i PR IR 5 FURF i AL P il
298 % 7-200m ﬁ—% HiZs(1) 25.08]FK 1L #i(3) 25.95[FE1L1 SCA&®) 26.30[RIR T 26.36 5k L) 26.65( 1L A1) 26.85[/RIR JR3E(2) 272842 % 75(1) 28.17
JE:-2.8 ALK BR 5 HURFiEL BR £ FURF iEL HEAC BR 5 FURF iEL [N ELEE B FURF i
o8 H 7400m Elﬁ‘ FE0) 59.40] 5K FHR©2) 59.58|ffiAR —(2) 1:00.54 [HTHE 13257 L:01.10 3N £k 1(3) 1:01.93 s BJ5(2) 1:01.94 [fEun ZE3E(1) 1:02.91{&H 1HM(3) 1:04.02
AR BE 5 FURFiE: PR R 7 FRF AR e & ] e LI B IEETwN B FURF
29 H 4 7-800m HOE 13570 2:26.48| 518 BEE(HL) 2:28.42|44 L BE3R(1) 2:58.59
LR E GONSPO LR )
98H Jef1500m R BEFG) 4:46.51|/NEE) EHE(2) 4:47.57|FAS FERA2) 4:48.19| T Hil(2) 5:03.53|/vk EFN(3) 5:03.59| R4 (D) 5:08.07| A F(3) 5:10.10{ k7% K4 FH(2) 5:12.53
SEIR = 4B IR = SEI 5 FRF P o PR R LI B 4B IR = i
su|  kTsooom |0 AT
wi|  dcpiooom | TATEL
ssp| X 100mH [ KFRH MG 14.22[ = mfE(1) TR | g 15.23|RIIRKE(2) 15.26 1811 75 (3) 15.40|4 8 783(2) 15.47 [FJsL e R (1) 16.26
JR:-1.6 IS EH SCRE R LA BEOFBAC LR HHEE LR LR )
| degaoomy  |PIE FIZRG) 1:03.94| 54+ AHR(2) 1:05.23| 8 FRi(2) 1:06.48 [Hfii  T-=3(2) 1:07.33|EH 3) 1:08.21 [#h3 KAL) 1:08.59| KH - F1H(2) 1:08. 748 ER1-(3) 1:11.05
i}%%‘)\‘ %&Eﬁmﬁﬁ LR ) AL BE 5 FURF L FFRF /e 1 BN i O
T YE0) 14:44.89|4bH EHO3) 15:18.71
28H | Z21-3000mSC iﬂtﬁ%@ Eij[f@
) JII EAQ) 29:34.66 [$nAR JBRAK(3) 31:43.58 W ALIDHE®R) 33:10.68 RN EME1-(3) 36:05.68
B KES000mW e R B syiei it
EEAHFEA 48.38 | FLEE 49.82|BR 5 HF i B 50.48 | ALk} = 50.82 |4 1L 51.36 | FF T i 51.44| B Sk 5 52.32
AR AH02) RN JEFEQ) FH HNEG) fidhh BLTY(2) ot AifEQ) AR FR(3) il Z2A(3)
8H|  Z4AX100mR | #HEEQ) i)l =EHA(3) e ERIRQ2) WA FdE1(2) R H&EFQ) Bl AE/E®B) P SEAE2)
Ak AR FRB BER(L) Bl C&EG) AR HE2) FEM OEAHIR) KER Q) el 25(2)
BRIl #EE3) =i mREQ) PRI ZRH3) R 1) IRH LR El% B1-(3) k@m fE(3)
TSN 4:07.18 [JEM & 4:12.11 |52 B T & B 4:12.26 | EEE & 4:12.75| FRF V5 ) 4:19.19| FFURFRE 1A 4:19.27|1LELK 4:22.00 [# B4 BUREAE & 4:25.86
FN'E BRIFR(2) Fsy ERJ5(2) #2 % Jh(1) FHIE BER(1) Rk AHQ2) A AIE®G) t&'EE HiL2) HiE HXEG)
298| & 74X400mR  |KEIL SCFE®G) WA AmETQ) etk G A FEHE(2) EIR FILE) R ARHL(3) FRR FELM2) SN {6))
M EmE3) AR HE2) P A7RIA(2) AR JRFEQR) ARl #(3) VIR A5(3) R A 9E2) R FHR)
A AHN2) il EEQ) T :2530Y) £l SEHRG3) E)l HER) Lk $R(2) KH Eit(2) FHx EH2)
[EEiES aC)) Im70{/Mbk - A+-(4) Im64|HH A ERHA(1) Im61 M 2% FE(1) 1m61| % B J5(3) Im58| =& FEfH(1) 1m50|HIE R4 (F12) 1m50
29 F L FROK - BES EGR| A Zfkk HELAGER Al B AL EEES GONSPO B~
B R Rl ZEQ2) 1m50
- IR
g 1% 27 5(3) 3m10
28H L F- e Bk e
. LR I #e(1)  5mb4(+0.6) [BIFF  Ffd(4) 5m52(-1.0)[FAJF FHM2) 5md7¢-1.2)|&)Il B(3)  5m27(-0.9) [ ERERQ2)  5ml7(-0.6)[fk #HEE)  5ml2(-0.9)[HE HAETQ) 4m99(+0.9)|% KR HAB)  4m82(-0.4)
BB 5 FURF i SR IIE N FERE B BE 5 FURFiE: 5 FURF i il HS A
29H Lep g | RA@) 12m36(0.0)|[#Fs V77 (1) 11m92(-0.8) [k #iK(2) 11m86(-0.9)[fk #ifE(2) 11m07(+1.2)[# FFER) 10m71GL3)|A)I ==43)  10mb6(+2.2) (Il FEB)  10md5(+1.8) ([ (1)  10m42(-0.4)
— B R EGR| il K EENINEEN LR &t B 257810m45-0.9)| |- BF JEUE I ESTON
29 H Lermse [P HEQ) 12m58| &t =35(1) TIm79(|#211 EiiE4) 11m20 (“{R A1) U CIEEZ6) 1om71[ & B5G) 10m18[ &% #(2) 10mO1[HA Fidx(3) 10m01
- [ES PN HIRK BB LBL e R PR IR AR HEIRK HHEH
o8 H T )r/m FhE(4) 35m81|FF M AAZE2) 35m48 [ H 1231 33m83 fﬁ)’jz HI1E2) 33m52 [ 411 A (3) 32m94[FA BA3) 32m64 | BB 7(2) 32m25[45)11 5(2) 29m14
AL EBE R ALK HIAK LAY |I|ﬁi‘*‘7‘~ﬁ%)\‘ ﬁ/ﬁtﬁ HIAK FRRF A
P N mu HI(3) 41m00|FicJst HLIL(2) 32m97 | BAER(2) 31mO9[FFH IHZE(2) 3ImO4[E i FHR©) 28m28[ &I 74 (3) 25m43|IA FHR3) 24m26 | AR Hiia(1) 22m88
INRLERER 4B IR SO R IHRLERER HHEE IESN H R B S
29 H P IR ZOEE4) 46m42|2H EHEQ) 41m82| PR FEA (1) 41mO3|HEL #(3) 35m77|eHF %E(2) 34m83 [k =722 (1) 34m66 [/ FiFE(3) 32mO8 |58 B 30m33
AR GRINBLFRER WAL R ¥ HHEE AL RS P & HHEAC
”5 %fj ﬁj;\(l) 40595 :g FEkE() 379245 Eg FitR2) 1853 %
PET NN AL FLEE [NE3=
NE?Q HTBRER | 5 200 ma0-smsz-07.62-1.7) 15.02(-1.1)- 1m45-7m66-27.34(~1.7) |22.68(~1.1)-NM-6m04-30.88(-1.7)
4m74(0.0)-42m08-2:36.83 4m89(-0.8)-19m26-2:44.61 4m14(+0.2)-24m58-3:04.46

SEM FEAIZS (IWBLFBER) 201 100m TR EZA THE, 200mfE B

LA Pl — 8 (BRI ) 25 F-400m R 287 CHE

BRI /IR ORZARR) 2 -0V R CHERS




	15-2-1 決勝一覧

